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Background exclusion 6

(Pe-, Pe+) = (-0.8, +0.3) (Pe-, Pe+) = (+0.8, -0.3)

Signal to background ratio is 
0.02151 for (-0.8, +0.3)  
0.00655 for (+0.8, -0.3) 
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Estimation of error

The error of the ALR can be expressed as

L/R : 100% polarization

-/+ : Polarization at ILC
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Estimation of error
The propagation of the error derives

As for the error of ALRobs, defining
η: detector acceptance 
L: integrated luminosity
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Results
Assuming that errors of η and L are negligible, 
ALR = 0.22820 ± 0.00017  
Relative error = 0.000764

In the case α/Δα = β/Δβ = 0.00033, 
Relative error = 0.001448 
10 times better than the relative error at SLC = 0.014501
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Assuming that f/Δf = 0.001.

α and β are correlated and correlation parts cancel out. 
Relative error in the non-correlation part should be 0.00033.


